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Please make sure that the printed pages in this question paper are 5 in numbers and it
contains 30 questions.

di;k Huf’pr dj fd bl 1"ui=e efnr i'B I[;ke 5g o ble 30 i"u gA

The Code no. on the right side of question-paper should be written by the candidate on
the front page of the answer book.

1"u i=d nkb vkj fn, x, dM ukcj dk Nk= Hjk mRrjifLrdk d 1gy i’'B ij fy[k thuk pkig,A
Before beginning to answer a question, its Serial Number must be written.

fdlh i”u dk mRrj nuk “k-= dju 1 igy midk @ekd fy[kuk gkxkA

Don’t leave blank page/pages in your answer book.

viuh mRrj iflrdk e [kyh iluk@ilu u NkMA

Except answer book, no extra sheet will be given, write to the point and do not strike the
written answer.

mRrj ifLrdk d vfrfjDr dib vU; “fV ugh nh tk,xtA vri vko”;driullkj oh fy[k o fy[k mRrj dk
u dkVA

Candidate must write their Roll No on the question paper.

1{kFh viuk Jky uEc 17u 1= 1j vo”; fy[kA

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, not claim in this regard, will be enterained after examination.
di;k 1uk dk mRry nu I 10 ;g Huf’pr dj fd i”u i= i.k o Igh g] 1ji{kk d mijkr bl Dck e
dkb Hh nkok Londky ugh fd;k €k, xkA

General Instruction:-

1. All questions are compulsory.

ii.  Write the correct option in objective type questions.
iii.  Marks of each question are indicated against it.
iv.  The question paper contains 4 section A,B,C and D.
v.  Section A Contains Multiple choice questions.

Section— A

Q1. Gross working capital means --------- (2)

Idy dk; 7y ith dk viikik; &&&&&&
(a) Sum total of all assets
I Bifykk dk dy ;kx
(b) Sum total of all fixed assets
IHh LRk BEIfYK K dk Ay ;kx

(c) Sum total of all current assets



I pky BEifVk dk ;kx
(d) Current assets minus current liabilities
Py BEifVk & pky nkf;Ro

Q2. Marketing plan is a document:- (1)

foi.ku fu;ktu ,d 1i= ¢g&

(a) Regarding the marketing objectives, strategies and activities to be followed by the
new enterprise.
Uk, mle Hjk ikyu dn tku oky foi.ku m|”;] j.kuffr;k f@;k,

(b) Which describes the flow of goods/services from production point to the customers
Tk oLrvk vkj Bokvk d cgko dk mRiknu LFku I xkgd dk of.kr djrk gA

(c) Which determines how many units must be sold or how much sales volume must be

achieved in order to have break even point
Tk BefoPNn fcln rd igpu d fy, fc@h bdkA ;k fcdh ek=k dk fu/djr djrk g

(d) Which reflects the projected cash available with the enterprise
Tk mle d 1{fir jkdM dk ifricftcr djrk gA

Q3. Growing flowers and selling to floral decorators is the example of the following source

of idea fields:- (1)
Qyk dk mxkuk o Qyk d ItkoV dju oky dk cpuk fdl fopkj {k= dk mnkgj.k gi&
(a) Service sector ideas
Lkok fopkj {k=
(b) Trading related ideas
0;kikfjd fopkj {k=
(c) Natural resources
lkkdfrd 1 1k/ku
(d) Market drive ideas
ktkj pfyr fopkj {k=
Q4. How many whole time members are nominated by the Union Government of India to

SEBI? (1)
Hkjrh; 0% Djdkj gk SEBI d fdru i.kdkfyd InL; ukfer fd, x, gA
(@) 2 (b)3 (c)4 (d)6
Q5. Which of the following is not a component of product Mix? (1)
futu e 1 dku Bk mRikn fed dk rRo ugh gi&
(a) Branding (ckfMx) (b) Labeling (ycfyx)
(c) Packaging (idftx) (d) Promotion (Ho/ku)
Q6. The entrepreneurs have an option to brand their product alpha-numerically as it
signifies :- (1)
,dmje d ikl viu mikn dk v{kjkdh; =1 I ckiMx dju dk fodYi gkrk g] ;g n”krk gi&
(a) Chemical Characteristics (b) Physical characteristics
Jklk;fud fokkrk Hkfrd fokkrk
(c) Neutral Characteristics (d) Mathematical Charcteristics
rVLFk fo”kkrk xf.krh; fokkrk
Q7. __ Feature of partnership states that any partner can act on behalf of the firm.
diA Hh Bk>nkj Qke dh vkl 1 dk; dj Bdrk g] ;g Bk>nkjh db e fo"kkrk gA
Q8. A viable venture is born when knowledge, skills, and strategically
applied. (1)
0;0gk; mle dk tle Kku] fui.kri] 0 I gkrk gA

Q9. The organization, management, membership and functioning of stock exchange in India

is governed by the provisions of (1)
Hkjr e Lvkd ,DIpt dk IxBu] ic/ku] InL;rk o dk; zij[k d iko/ku--mmre d v/u vkr gA



Q10. What do you mean by SWOT Analysis? (2)
SWOT fo”y’k.k 1 vki D;k le>r g\

Q11. Define OPC (1)
OPC dk Ifjtkkf’kr djkA

Q12. Name the plan which provides strategy to sell the product.
ml ;keuk dk uke crkvk tk mRikn dk cpu dh j.kutfr inku djrk gA

Q13. Assertion (A) : Customers are part of the micro environment. (1)
vitkdFu& xikgd I{e okrikoj.k dk fgLBk gA

Reason (R) : Micro environment does not operate in isolation and is one
of the levels of business environment.
dkj.k & I{e okrkoj.k vyxko e dke ugh djrk vkj ; 0;0lkf;d okrkoj.k dk ,d
Lrj gA

(a) Both A and R are true and R is the correct explanation of A

(b) Both A & R are true but R is not the correct explanation of A

(c) Aistrue butRis false

(d) Ais false but R is true.

Q14. Assertion (A) : The scanning of the environment help to secure the future of the

enterprise and avoid failure of the entrepreneur. (1)
Mkrkoj.k 1ji{k.k mJe dk vEQyrk I cpku e vij mje d Hfo’; e jf{kr dju e gk;rk djrk gA
Reason (R) : Environment Scanning’s a careful monitoring of an organization’s internal

and external environment.
Okrkoj.k 1ji{k.k IxBu d wvkrfjd o ckgjh okrkoj.k dh Bko/kkutood fuxjkuh djrk gA

A) Both A and R are true and R is the correct explanation of A
B) Both A & R are true but R is not the correct explanation of A
C) Aistrue butRis false
D) Ais false but R is true.
Q15. Assertion (A) : A franchise agreement is the official document (1)
vitk ditu & Ypkbt Be>krk ,d vikdijd ii= gA
Reason (R) : Franchising opportunities have often evolved from changes in the
environment as well as important social trends.
dkj.k & Ypkbftx volj ik;t okrkoj.k e ifjoru o egroi.k Mkektd iofr;k I fodflr gkr gA
A) Both A and R are true and R is the correct explanation of A
B) Both A & R are true but R is not the correct explanation of A
C) Aistrue butRis false
D) Ais false but R is true.

Section B
Q16.What is environment? Why is environment scanning necessary? (2)
Okrkoj.k 1 wki D;k Be>r g\ okrkoj.k 1ji{k.k D;k vko”;d g\
Q17. What is the difference between Basic ideas and post scanning ideas? (2)
VikjHkr fopkj o TkLV ijh{k.k fopkj e vrj crivkA
Or
Why is Market Research conducted?
ek vul/Mhu Dk fd sk tkrk g\
Q18. Write any two difference between Sole Trade and Partnership (2)
,dkdh 0;kikj o Lk>nkjh e vrj criviA
Q19. What do you mean by Skimming or Creaming Pricing? (2)
Aph eY; j.kuifr 1 vii D3k le>r g\
Or

Explain types of Franchising



Yptoftx d idkj crivia

Q20. Write short note on SEBI. (2)
SEBI 1j If{kir ukv fy[KA
Q21. What do you mean by Reordering level? (2)

lkut vinfkr Lrj dk vFk criviA

Section C

Q22. Explain the importance of Busines environment. (3)
0;0lk;d okrkoj.k d egRo dk o.ku djkA

Q23. Write any three features of partnership. (3)
Lik>nkgh dh riu fo”k'krk, crkviA

Q24. Write short note on organizational plan. (3)
IxBukRe ;ktuk 1j I{kir fVIi.k fy[kA

Q25. Explain any three importance of sales promotion. (3)
fod; loku d riu egRo criviA

Or

Write short note on Vendor management.
fodrk loku 1j H{kir ukv fy[kA

Q26. Explain different types of Acquisition. (3)
Vilkxg.k d foftku idkj criviA

Q27. Write short note of EOQ? (3)
EOQ Ikj If{kir ukv fy[KA
Or

What do you mean by Angel Investor.
nr fuo’kdk I wvki D;k Te>r g\

Section D

Q28. Why is a business plan valuable for an entrepreneur? Explain with the help of any four
points. (5)
0;0lk;d fusktu ,d mjeh d fy, D;k mi;kxh g\
Or

Explain any five components of a financial plan.
forh; ;ktuk d rRok dk o.ku djkA

Q29. Differentiate between “Penetrating Pricing and “Skimming Pricing”. State the
situations when “Penetrating Pricing” and “Skimming Pricing” are useful. Also state any two

disadvantages each for Penetrating pricing and Skimming pricing. (5)
iB eY; fulkj.k o Aph eY; j.kulfr e vrj criviA ok volFik, crkvk ftue iB o Aph eY; uifr
mi;kxh g vkj budh gkfu;k dk Hh o.ku djkA

Or

Explain any five reasons for failure of Merger and acquisition.
foy; o vifkxg.k dh vIQyrk d dkj.kk dk otu djkA

Q30. Re order quantity = 3600 units, Maximum consumption= 900 units perweek (5)
Minimum Consumption = 300 units per week
Normal Consumption = 600 units per week
Re — order period = 3 to 5 weeks
Calculate —
1. Re order level
2. Minimum level
Or

Define Stock exchange. Explain various functions of stock exchange.
LVkd ,Dpt dk ifjHkfkr djkA bld dk;k dk foLrkj 1 o.ku djkA



